O
B
]
EB [T 8

] Q T % Multiplizieren Sie Dezimalzahlen mit
1 Y= LT Zehnerpotenzen

B,
%|\\|\\|\\

Name: Datum: Ergebnis:
6, 894 x 1000000 = 10,777 x 100 =
7,349 x 10 = 4,18 x 10000 =
8,368 x 10 = 10, 107 x 100000 =
5,706 x 10 = 1,756 x 1000000 =
10, 629 x 10000 = 7,056 x 100 =
6, 888 x 10000 = 4,962 x 100000 =
10, 307 x 1000 = 9,801 x 1000 =
6,378 x 10 = 4,277 x 1000000 =
9,482 x 10000 = 6,25 x 10 =
3,292 x 10000 = 8,253 x 1000000 =
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Multiplizieren Sie Dezimalzahlen mit

Zehnerpotenzen

6, 894 x 1000000 = 6894000

7,349 x 10 = 73.49

8,368 x 10 = 83.68

5,706 x 10 = 57.06

10, 629 x 10000 = 106290

6, 888 x 10000 = 68880

10,307 x 1000 = 10307

6,378 x 10 = 63.78

9,482 x 10000 = 94820

3,292 x 10000 = 32920

Datum: Ergebnis:

10,777 x 100 = 1077.7

4,18 x 10000 = 41800

10, 107 x 100000 = 1010700

1, 756 x 1000000 = 1756000

7,056 x 100 = 705.6

4,962 x 100000 = 496200

9,801 x 1000 = 9801

4,277 x 1000000 = 4277000

6,25 x 10 =62.5

8,253 x 1000000 = 8253000
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